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QUESTION 1

What distinguishes an HP MSM460 AP from an HP MSM430 AP? 

A. The MSM460 radios support 802.1n, while the MSM430 radios only support 802.11b/g/a. 

B. All radios on an MSM460 support 802.11n, while only one radio on an MSM430 supports this standard. 

C. The MSM460 radios support three spatial streams, while the MSM430 radios support two spatial streams. 

D. The MSM460 supports 802.11n with MIMO on all radios, while the MSM430 supports 802.11n without MIMO. 

Correct Answer: C 

 

QUESTION 2

A company has an MSM solution that includes an MSM 760 Controller and MSM APs. The VSC for the employees does
not use the controller for access control, nor does it use wireless mobility. Employees\\' wireless clients should be
assigned to VLAN 10. How should the Ethernet network administrators design VLAN 10? 

A. Extend VLAN 10 from its default router to the MSM Controller\\'s LAN port. 

B. Extend VLAN 10 from its default router to the APs\\' switch ports 

C. Extend VLAN 10 from the MSM Controller\\'s LAN port to the APs\\' switch ports. 

D. Extend VLAN 10 from its default router to the MSM Controller\\'s Internet port. 

Correct Answer: C 

 

QUESTION 3

Which feature should you enable to enhance Layer 2 (L2) roaming? 

A. Seamless roaming 

B. Rapid authentication C. WPA2 Opportunistic Key Caching 

D. Single network AP hopping 

Correct Answer: C 

 

QUESTION 4

Which VSCs require the implementation of opportunistic key caching? 

A. Any VSC that supports Layer 3 roaming 

B. All VSCs that are secured by WPA/WPA2-PSK or WPA/WPA2 with 802.1x 
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C. Any VSC that is secured by WPA/WPA2 with 802.1x 

D. All access-controlled VSCs 

Correct Answer: C 

 

QUESTION 5

What are the major benefits of creating a team of controllers? (Select two.) 

A. Controller redundancy 

B. Flow support 

C. Local DHCP support 

D. PPTP client and server support 

E. Single IP management of all team controllers 

Correct Answer: AE 
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